&F0 265y i = X 15
R4 - =& B RRBEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
&| M HETRFH b Ei 3 2 SR
1 BEEREUIEL P o B A X — 12 18— —
2 LELISl o 50 | L1|f 1gd 23k 6. 3%l 6.3
VAR S A
1 RS M Py o B A X —Ft 7o 11 | —
2 LFELIA o i 50 | L1|f o jf: 1440 6. 4 6. 4
VRSB A b msiEsin 50 | L1 WG 7.00  LOft 2. 2l 2. 2
EFRLIA o Hitkek 50 | 1.1 [ 3. SE 5. 9[@ 2.1l 2.1
§ P o P o VB EL T SR AL
1 REEIRS kN o B2 A X I —Jf 7.9r~fu i | -
2 hEEA o i 50 | 1.1 |4 9.3 144 2. 2%k 2.2
EFELIA 0 50 | L. 1[0 4. 0% 5. 680 2. 1 2.1
7| EHERT AR E#E3 7 751
1 IR MR o B2 T i Ik —d 12 14 - —
2 ERLEA O 50 | 11| 17 190 1. 9%E 1.9
WEFER B R IA
1 REIRE RN o 2 T K —d oM 12— —
2 LR o 50 | L1 12 1660 2. 0% 2.0
LFELIS O HiH 50 | 1.1 [fd 6. 5l 8. 4 1.9E 1.9
O HERT L5 VLB FEH AR
1 FREEIREMG N o B A K —E 14 200 — -
2 RERLS O 50 | L.1|F 20 26§ 2. 0fd 2.0
VR B B eEsn
1 BEEEREHIE P o A K0 —ot 1opE 14— —
2 ELS o 50 | 11| 14[: 181 9. Offi 9. 0
_EEELIAN 0> itk 50 | 1.1 Wl 7.5/ 9. 9E@ 1.0E‘i Lo
R T L EiE 1 180
1 RN o B A O —J#ti 23r’@ I




ST 265y i = X °H
R4 - =& B ERIEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
7=| e HEET L = 2 BREELSOHUS 50 | L.1|f 29 38 | —
BB FERZR AR
1RSSR P o R F HE K — 19 25 | —
2 FELS o 50 | L1|f o8 33 | —
RERLAS D BB R
1 BRI PN 0 B A K L ) S
2 kLo 50 | L1[h 20 264 14 14
_EFRLASh o> it
1 IR P o B K3 —fel 8.gpi 100 | —
2 LSO K 50 | L1 19 17 L 4% 14
e RN e RERB
1 BRI A PN oD Rl 3 el 1ypi 15 | —
2 hRELSt R 50 | L1|F 16
_ERELASN 0 Mtk 50 | 1.1 6.7
L HEIT T R [ STERA
1 REEHREAEL N O 2 A RO —f 13
2 _ERCEA Ot 50 | L1|4 18§
LRCEAS: oD Hsg 50 | 1.1 8.1
= HERT T B [EE 1 18R
1 BREEIREME P 0D B T i —d 2o@hi 31— —
2 _LEBsA o ik 50 | 1.1|h 32 40— —
W FERIZ R
1 BB o B2 A X I —l 19 25—  —
2 LS o 50 | 1.1|Hf 26 33% 14 14
RSO RBER N,
1 RO o B A il X —Hl 12 17 | —
2 LFELh o g 50 | L1 17 22 14h 14
EFRLIA 0> HitlE




&F0 265y i = X 3E
R4 - =& B RRBEE
S (TR wass @M m oW g [P ACEERTEECEA RS
7| M ST | ROERREN O B R - P e I
2 ERLIS 0K 50 | L.1|h 1off 13 1. 4%k 1.4
[ Lupere [EiE 1 158w
1 EREER AN N o B Hh X — 21t 26 - -
2 EECLIA oD 50 | 11| 28 35 @ — —
FGERME TRV, REERBERLV
K OVRLTE A AR IR
1 RSEIRELMIR P 0D 5 i B — oo 25— —
2 EERLAOHIR 50 | L1|# 28 33 | —
ERUADRBER N
1 BRI o B2 A K — 1TeE 21 - —
2 RERLSOHI 50 | 1.1|F %E 00 - -
ERCEASR D il
1 EEEERE ARG P 0 B —n gl o1 | —
2 FELS o 50 | L1|f 15 21 1. 4% 1.4
EHEET R SR
1 BEEHRE R PN o B M K —fel 1P 15 | —
2 kLSO 50 | L1|f 16 208 2. 1 2.1
_ERCEASN 0> itk 50 Llﬁ?&%gﬁLlAﬂlA
PRI Lh b YR [ AT EAR TR
1 BREiR st PN o B X s — it ”F 210 — -
2 _ERLEMA ot 50 | L1|% 24 31 — —
R B P S HPR IR WO R CVRGE B P AR TR Y
1 Rt PN o 2 DO —fe 14 18— —
2 RECEAA oo iR 50 | L1|d 18 23fd 9. Lkl 9.1
LRELLA D s
1 RSERBUHEE PN 0 B T s —t 9. 8 120~  —
2 _ERCLMAE Ot 50 | 11| 1l 160 1. 3%f 1.3
FOHERT L VLB H




ST 265y i = X 1H
R4 - =& B RRBEE
e R ks @ A o w4 [P PEEERTIBEITOGES
7| AT Hos | RS RH O F A R P s e I
2 ERLIS 0K 50 | 1.1 25T 32%E 9. 1 9.1
LELEASN o i
1 EREiR B s Py o 2 R il KO —too. el 1l | —
2 EECLIA oD 50 | 11| 11T 164 1.3k 1.3
FERTHT 3E Esin 50 | 1.1 |#E 4. 40 6. 5l 1. 1[: 1.1
FE T T R [ESERIA
1 FRETRBUME o B A Hi X —H o 12p 16 | —
2 LRELU o i 50 | L[ 17 2260 9.2%0 9.2
EELIA O Hi 50 | 1.1[f 6. 4%f 9. 3[;@ LIl 1.1
FERITE @ [ oRTER A
1 BRI A PN oD Rl 3 el 1pi 160 | —
2 LELU OISR 50 | L1 17/ 220 9. 2% 9.2
RFRLLA o> Hitkek 50 | 1.1 [l 7. of 10Em L. L 1.1
RERIHT S & B Est 50 | .1 —foll 6. Al 1. Ll 1.1
FEMIHT 2] RIEBW
1 REIRE RN o 2 T K —d 1o 16— —
2 LELUS R 50 | L1 17 2260 8. 9%l 8.9
EFELIA O HiR
1 BREEIREME P 0D B T i —d oM o1 —|  —
2 RFERES O HR 50 | L.1|F 12 16§ 1. OfE 1.0
FERTHTAE BGBER L 50 | 1.1 (R 8. o 12fd 1.2[: 1.2
ERLLA o> it 50 | 1.1 [ 6.3l 8. 0[;% L Lff 1.
FEFET A B [SERAID 50 | 1.1 [l 8.9 12 1. 20f 1.2
RERLIA O I 50 | 1.1 4.8 7. %0 1.1 1.1
FEMIAT A L CE A 50 | 1.1 8. Of 127 1.2t 1.2
EEELIA o il 50 | 1. 1[0 6.3%0 8. Ol 1. 1 1. 1
EARLIEA G [SSERIA




&F0 265y i = X 5
R4 - =& BEFRBE
e R ks @ A o w4 [P PEEERTIBEITOGES
7| FEMIRT A 1 BEER BRI o 2 Al DX ’ f% E% £ : -’ ’ i
2 kRIS Hk 50 | 1.1 |4 25T 305E 8. 95 8.9
LELEASN o i
1 EREiR B s Py o 2 R il KO i 8.3 9.8f  —| —
2 FEREAAh o Mgk 50 | L.1|% 9.2" 10 1. 15 1.1
&| EErhmTf A LS TERE
1 SRR o R A —i 1 18 | —
2 RELEA o 50 | L1|# ME 183 — —
LFRLLA o> it
1 R R sk PN 0D SR X Js —t 5.6l 9.2f —| —
2 hEEA o i 50 | 1.1 |4 9.0 13 1. 08k 1.0
BT A% A EHiE 11 E53n
1 REERE MG o 2 DO —t 20 260 - —
2 hREELLS o> Mgk 50 | L1|F 27 34  —| -
RIERWN
1 RERBHE N 0 B Al X —t Lo 15— —
2 _ERCEA Ot 50 | L1|F 1gf 20 — -
LFELLS D i
1 RRREHR N O 2 Al b —l 6. 801 100 —| —
2 _ERCEA DR 50 | L.1|% 9.8 1480 1.2 1.2
E T AT E EiE1 1 5%y
1 BEIRBUBIER AN o 22 A DX —p 21 260 - —
2 ERCEA s 50 | L1|F 26f 34 — -
[SERAID
1 EREERSHIEN O 2 X —# 108E 15 - -
2 LERLS o 50 | L1|F 1gf 20 — -
L FRELA o itk
1 RN o B A O —%70@ o - -




&F0 265y i = X 65
R4 - =& BEFRBE
e R ks @ A o w4 [P PEEERTIBEITOGES
&| B AETEE AT H 2 BRI OHIR aﬁ Lf¢9g$ iﬁlgﬁlg i |
BT & E#E 1l 15Hmn
1RSSR P o R F HE K — 2B 26 0 | —
2 FELS o 50 | L1|f off 34 | —
[ESERALD
1 FREERBE N o B A Hh O —En 1ifei 18 | —
2 kLo 50 | L[ 14[: 1o 1 11
EFRLIA o Hitkek 50 | 1.1l 5.9 104 1.2k 1.2
EHETT & RERV
1 REER s o B s e 1ypn 16 | —
2 hEEA o i 50 | L1|#% 16 21 — —
LFRLLA o> it
1 REERE MG o 2 DO —ti 7.5 9.90 —|  —
2 RECEAh oot 50 | L.1|% 9.1ff 13 1,20 1.2
BT IR [ STERA
1 RERBHE N 0 B Al X —t Lo 15— —
2 _ERCEA Ot 50 | L.1|% 15 20 10 10
LFELLS D i
1 RRREHR N O 2 Al b —l 6. 900 9.9 —| —
2 _ERCEA DR 50 | L1|f 9.1 13m0 120 1.2
A ENIEE EE 1 150w
1 BEIRBUBIER AN o 22 A DX — 21 24— —
2 ERCEA s 50 | L1|F 27 32 - -
[SERAID
1 ERRER B PN o 2 R il s —#t 1o 15 | —
2 LERLS o 50 | L1|F 1gf 20 — -
L FRELA o itk
1 RN o B A O —%95@ 4 - -




ST 265y i = X TH
R4 . =8 B ERIEE
p| 7 TR aRe  E W % A e T Tk e | s [
% e = * ® = # ®
&| BrRETAL R 2 ERELSA ORI 50 | L1|F 13 18 | —
ST Lz, SRR
1RSSR P o R F HE K —1gpi 15 | —
2 FELS o 50 | L1|f 18 20 1P 11
RS o i
1 FREERBE N o B A Hh O —Eh 7o 9.2 | —
2 kLo 50 | L1[h 10 13t 1 oft 1.0
(| CRATE O [ESERALR
1 IR P o B K3 —fel 8.opi 100 | —
2 LSO K 50 | 11| 9.6 120 3. 6% 3.6
LFRLLA o Hie 50 LlﬁBﬂ%GJLlﬂ%lﬂ
R RiERW
1 JREEHR A PN 0 2 A DO —fel 9.0 11— —
2 _ERLEA iR 50 | 11| 11ff 13 3.5 3.5
LRELLA D s 50 1.1 [ 7. i 8. SEIE 1.o#t 1.0
| —EFET KR EHE 1 1590
1 REIRE RN o 2 T K —d 17 —| =
2 LELUS R 50 | 11| 20 25 9.9% 9.9
VR Ol S RE A
1 BREEIREME P 0D B T i —d luEE 1§ —| —
2 LA OHIR 50 | 1.1 18d 25 104 10
BRSO RGBT
1 BB o B2 A X I —fdi 10/ 15 0 — —
2 LS o 50 | 1.1 (% 15 2240 1. 6ff 1.6
_EERLIA 0 il
1 RS o = A KO —#fl 5. 9% 11 — —
2 LFELh o g 50 | 1.1 |d 8.5 14l 1.6l 1.6
BRI A [EE 1 1 5in




&F0 265y i = X 8
R4 - =& B RRBEE
R N N I e ] | Lok | 4B (B
5 = wpar | ROERREN O B N P W e I
2 kRIS Hk 50 | 1.1 (% 21f 287 9.9 9.9
WGEFERZ RN WA CRE R R EHTRE
BRI
L RFEIRELHIA O 2 il —L 14mE 1y - —
2 EREEMA O 50 | L1|F 20 26 | @ —
ERLLASR D RGETR
1 RSEIRELMIR P 0D 5 i B — oM 15— —
2 EERLAOHIR 50 | L1|# 1 22 0~ —
LFRRLIS D
1 BRI P 00 B A K —ti 6. 7iE 8.5  —| —
2 RERLSOHI 50 | L.1|% 10Mr 133 1. 58 1.5
ZEPHT VLE FERIZ AR
1 EEEERE ARG P 0 B — e 18 | —
2 FELS o 50 | L1|f 20 25 | —
RERLAAN D BB R
1 IR o 5 A Hl O —iEn Lol 14 | —
2 kLSO 50 | 1.1[f 14E: 20/ 10 10
_ERCEASN 0> itk 50 | 1.1 [l 5.6/ 8 Tl 1. 5l 1. 5
SRIESIPEN ¢ VB EL SR AL
1 BREiR st PN o B X s — it HF 15 - -
2 _ERLEMA ot 50 | L1|% 14 20 — —
VR o PP P RS
1 REEHRE M N o B A g —Hl MF 3 - -
2 hREELLh oo sk 50 | L1 14 18t 9,860 9.8
ERLEAS O i 50 | 1.1 W0 6. 900 8. 90 1.6 1.6
HIA T 3 EiE 3 7 7 5B
1 REERE N O 2 K I — o tomi o1 —| —
2 _FEOEAA O 50 | 1.1 04 13 170 9. 64 9. 6




ST 265y i = X I
R4 - =& B ERIEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
R LA ET 34 [ WBEIR 50 | 1.1 [ 7.9 9.8 1. 50 1.5
RERLIA o Hitke 50 Llﬁ4ﬁE52L1A%1A
LI ASET Y PGB A T AR
1 EREiR B s Py o 2 R il KO —t 7o 9. | —
2 _EERLISh oM 50 | L1 9.2ff 128 1.4 1. 4
EFEEIA O i 50 L1ﬁ48%51M1AE1A
(LA BT 4 /P EE3 7756V
1 FRETRBUME o B A Hi X —F o 13pE 16 | —
2 LRELU o i 50 | L1|#F 19F 23 | —
W E B AL
1 FREEIRG R o B T —R 14 19 | —
2 EFLLISt o sk 50 | L1|F 20 26 —| —
VR B P P AR
1 IR MR o B2 T i Ik —d 9.9 12—  —
2 LRELIA o Mt 50 L1|F 13 17 - -
ERELASR D iR
1 REIRE RN o 2 T K —id 6.8 8.9 —| —
2 LEELUt oM 50 | 114 8.7 1060 1. 60 1.6
HIAET EiE3 77 5R0
1 BREEIREME P 0D B T i —d 14 16— —
2 EELA O HuR 50 L1|H 19 23 — —
WA RS SR
1 BEHRB I A o0 B A K5 —fd 1ZfE 15 0 — —
2 LS o 50 | L1k 17 o220 — —
_EERLIA 0 il
1 RS o = A KO — 8.3l 9.9  — —
2 LFELh o g 50 | L1 1o 1nph L4 14




